1/0 do/dA

Ratio to OPAL

107

10

0.5

91 GeV ee y*/Z (Hadronic)
| | T T T I I l ' | g
(]
— =
— o
— 0=
~ |
~
— 1A
B e
i
— - E
— 1.2
m ™
= He
— — M
— <
- i ey
| o
o
™
— Hbe
m OPAL E
— --3-- Herwig 7.0.0 default Ek
— —&— Pythia 8.301 default m s
e ¢ Sherpa 1.2.3 default e
| —¥-- Vincia 1.2.01_8.205 default — 8
)
©
| — O
— )
= | | I | . ] =R
:l 1 1 1 1 [ L I I T |:
= -2
C . -
S, Seen e
I e S e e — 11
=-a o ~~~~~~ ..... ’ ........................................... ‘ n
u R £
| —0.5
| 1 1 1 1 | 1 " 1 1 1 |
0 0.05 0.1



	Contents
	Page 1


